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Multiple choice Question:
4. Which of the following occupy top vertical strata of forest ecosystem?
a)  Shrubs      b)  Herbs and grasses        c) Phytoplankton     d)  Trees.
5. Decomposition is favoured by
a)  Warm and moist environment            b)  Aerobic Environment 
c)  Rich enwound of nitrogen and water soluble substance like sugar in detritus.
d)  All of the above
6. If 20 J energy is available at producer level, then how much energy will be 
transferred to the lion in the food chain :
Producer – Dear – Lion.
a).   0.2 J    b)  0.02 J    c)  0.002J    d)   2J.

What is the unit of measurement of productivity.

Out of 1,000,000 J of sunlight, how much energy will be converted by 

primary producers into NPP.
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7.   Pyramid of numbers is

a)  Always upright   

b)  Always inverted  

c)  Either upright or inverted  

d)  Neither upright nor inverted

Assertion And Reason Question  

 Read the assertion and reason carefully and mark the correct option out of the

 options give below :

a) If both the assertion and the reason are true and the reason is a correct

 explanation of the assertion.

b) If both assertion and reason are true but reason is not a correct explanation of

 the assertion.

c) If the assertion is true but the reason is false.

d) If both the assertion and reason are false.

8. Assertion : Despite occupying about 70% of surface the productivity of

 oceans is only 55 billion tons.

 Reason : Light and minerals are limiting factor for productivity of ocean.

9. Assertion : Amount of nutrient present in soil at any given time, in an

 ecosystem is raffered as standing state.

 Reason : Each tropic level has a certain mass of living material at a particular

 time, known as standing crop.

10.
11.

12.
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Answer
-2 -1 -2 -12.    g yr  or (Kcal m ) yr

3. 10,000 J
4. d) 5. d) 6. a) 7. c) 8. a) 9. b)

SA-I (2 Marks)
10.
11.

12.

13.

14.

15.
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